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BAER (2012811 R09B (&) SmMA# B2 X200 GFH132A WRELTHAVN—H3T
(5F) (ZLF) X3 #5/13.4°C/3L1.8m/s
JIIE {32 K4 ouT IN GROSS| HDCP | NET JIE 2 K4 ouT IN GROSS| HDCP | NET JIE 2 K4 ouT IN GROSS| HDCP | NET

1 L& BT 48 40 88 21.5 66.5 61 & & 50 47 97 20 71 1 HK EF 42 39 81 8.7 712.3
2 BXK X 42 44 86 19. 4 66. 6 62 EA HE 45 46 91 13.9 77.1 2 T ES 47 51 98 25. 4 712. 6
3 EE B 38 44 82 15.2 66. 8 63 =i FEF 48 51 99 21.8 71.2 3 = MmEF 44 42 86 13.3 712.7
4 ER #EA 40 42 82 14.7 6/7.3 64 EA XX 50 51 101 23. 17 77.3 4 EX BA 48 49 97 23. 3 713.7
5 B B 42 42 84 15.6 68. 4 65 RH FE 52 52 104 26.6 71.4 5 J§ BAZE 48 45 93 16.9 76. 1
6 JtA HE 44 44 88 18. 8 69. 2 66 alll EE 46 49 95 17.5 71.5 6 aA FRE 39 43 82 5.5 76.5
7 A TE 44 43 87 17.3 69. 7 67 Kfd 8 41 43 84 6.4 71.6 7 MHE fF 49 42 91 14.2 76. 8
8 HF Eif 41 46 87 17.1 69.9 68 FH EIE 55 48 103 25.4 71.6 8 BE OMEF 41 46 87 9.3 71,7
9 MEHE 3B 38 41 79 9 70 69 INK KA 45 45 90 12.2 71.8 9 EA EFF 52 51 109 30.5 78.5
10 JIIR  [EF] 45 44 89 18. 7 70. 3 70 B BEA 41 46 87 9.1 77.9 10 RO HNE5F 54 54 108 28.3 79.7
11 AOIEX 42 45 87 16. 6 70. 4 71 YRR ERER 52 52 104 26 78 11 &\ FF 55 52 107 26. 3 80. 7
12 Wiz =, 43 37 80 9.2 70. 8 72 BA RE 48 45 93 14.9 78. 1 12 AN £F 50 53 103 21.9 81.1
13 KB KA 41 43 84 13 71 73 A=l 47 46 93 14.9 78. 1 13 HEH O THEF 50 47 97 15.7 81.3
14 & ER 4] 41 88 17 71 74 12 IEE 54 51 105 26.9 78. 1 14 b AEF 48 48 96 14.1 81.9
15 KAR & 51 4] 98 26.9 71.1 75 5K BABL 49 52 101 22.8 78.2 15 INK . FOF 51 50 101 18.5 82.5
16 hE = 41 44 85 13.5 71.5 76 fE R 49 43 92 13.7 78. 3 16 MR EF 56 51 107 23.9 83. 1
17 Z= HE 49 4] 96 24.4 71.6 77 XA = 48 53 101 22.5 718.5 17 =F AEF 54 46 100 16.2 83. 8
18 ¥E & 42 40 82 10. 3 1.7 78 =1L B 43 45 88 9.4 718. 6 18 HU 8hF 49 50 99 14.6 84. 4
19 #HE F5 49 41 90 18.2 71.8 79 FH = 52 52 104 25. 1 78.9 19 B ILE 51 50 101 16. 6 84. 4
20 T OB 42 42 84 12.1 71.9 80 A 52 56 108 29. 1 78.9 20 A E% 63 58 121 36.6 84. 4
21 F8 S 41 38 79 6.9 72.1 81 R ERE 53 45 98 19 79
22 INE XA 40 41 81 8.9 72.1 82 IO FAT 44 45 89 9.9 79. 1
23 JIIE & 40 43 83 10.9 72.1 83 A Ik 47 50 97 17.8 79.2
24 AT =HBE 48 45 93 20.7 72.3 84 FBH IE 51 51 102 22. 4 79.6
25 b8 EF 41 41 82 9.6 72. 4 85 =H shE 53 55 108 28.3 79.7
26 =5 TEA 42 43 85 12.5 72.5 86 # B 45 48 93 13.2 79.8
27 BE $hth 40 38 78 5.4 712.6 87 —& &= 49 44 93 13 80
28 R EBE 38 43 81 8.3 12.17 88 TH EAM 46 44 90 9.9 80. 1
29 XiE fsE 46 42 88 15 73 89 I #%8h 49 53 102 21.8 80. 2
30 T 46 43 89 16 73 90 SRS 43 46 89 8.4 80.6
31 =% & 44 45 89 16 73 91 ¥ B 43 53 96 15.4 80.6
32 XgE # 45 48 93 20 73 92 ZH 1R 56 52 108 27. 4 80.6
33 AR B 50 46 96 23 713 93 M B 49 47 96 15.2 80. 8
34 Bk AHE 43 42 85 11.6 713. 4 94 INE M 47 46 93 12 81
35 =g B 41 51 92 18.4 73.6 95 a2 % 46 47 93 12 81
36 dtH X 44 44 88 14.1 73.9 96 BRE = 54 44 98 17 81
37 me & 50 48 98 23. 8 74.2 97 BEX & 53 45 98 16.5 81.5
38 ZE —% 48 45 93 18.6 74. 4 98 F¥ EX 56 50 106 24.5 81.5
39 F B 50 43 93 18.6 74. 4 99 =H IF 52 50 102 20 82
40 fEE R 52 42 94 19.6 74. 4 100 Ei5 BR 53 56 109 26.5 82.5
41 I FE 51 51 102 27.6 74. 4 101 B8 Zih 51 51 102 19. 4 82.6
42 i BE 51 42 93 18.5 74. 5 102 B #BE 60 53 113 29.3 83.7
43 FAE B 41 45 86 11.3 4.7 103 KE 1EF 58 59 117 28 89
44 R FS 47 46 93 18.2 74. 8 104 R2E &F 55 53 108 17.2 90. 8
45 EETER 42 40 82 7.1 74.9 105 EF BuE 50 61 111 20 91
46 EFf =% 44 44 88 13.1 74.9 106 Tty BxX 56 58 114 23 91
47 R TE 48 45 93 18. 1 74.9 107 W OHEE 71 65 142 48. 4 93.6
48 Bl 1EF 46 43 89 13. 8 75.2 i ES -
49 # 18 46 43 89 13.5 75.5 L B =i
50 xR T 46 42 88 12.3 75.7 L BIE  EER
51 ZHF 5B 52 44 96 20. 2 75.8 L F& E=EH
52 B i 40 47 87 11 76 51K =% shE
53 EH & 48 44 92 16 76
54 Hf #HiE 49 48 97 21 76
55 A B 40 42 82 5.5 76.5
56 FH E=E 47 42 89 12.5 76.5
97 FEiE B 45 49 94 17.5 76.5
58 E/IN IE 41 51 92 15. 4 76. 6
59 =2 BE 43 43 86 9.1 76.9
60 5_§EE| T 44 40 84 Ji 71




